Phys 218 — Fall 2016

All Sections

Physics 218 — Exam III

Short Answer: 1) ¥y =42.17i m/s
2) Ip = 5mL?
3) —0.130 rad/s? clockwise
E—‘,-Mw
4) wy = ﬁ+?‘%

Problem 1: (a) as = k—i to the left, and ap = J\% to the right

b _ k> dom = Ma e

o = Sy T )
Problem 2: (a) Wgie = —2.26 x 10° J

(b) vg =11.8 m/s and vy = 21.0 m/s
Problem 3: (a) zy = 2%

kx—m
b) a = AL
(b) & (gM+m)R

Problem 4: (a) wy =3.33 rad/s
(

the merry-go-round is completely inelastic (the stick together), so kinetic energy
cannot, be conserved.



